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Schofield & SimsCHECK-UP TEST  |  Number

B 	� Write these numbers in digits. 

		  five hundred� 500

		�  one hundred and sixty-three� 163

		  four hundred and thirteen� 413

		  nine hundred and forty� 940

		  three hundred and five� 305

		  two hundred and eighty-nine� 289

		  eight hundred and twenty-four� 824

		  one hundred and two� 102

		  seven hundred and seventy� 770

		  one thousand� 1000

C

	 	� 400 + 60 + 3 =� 463

		  700 + 80 =� 780

		  600 + 1 =� 601

		  300 + 10 + 9 =� 319

		  500 + 20 =� 520

		  100 + 16 =� 116

		  379 =     tens 9 units� 37 T

		  404 =     tens 4 units� 40 T

		  230 = 2 hundreds     units� 30 U

		  865 = 8 hundreds     units� 65 U

		  7 + 2 =� 9

		  5 + 5 =� 10

		  3 + 6 =� 9

		  0 + 9 =� 9

		  2 + 8 =� 10

		  8 + 3 =� 11

		  5 + 9 =� 14

		  7 + 4 =� 11

		  2 + 9 =� 11

		  4 + 8 =� 12

		  6 + 5 =� 11

		  8 + 8 =� 16

		  7 + 6 =� 13

		  9 + 9 =� 18

		  6 + 8 =� 14

		  6 + 6 =� 12

		  8 + 5 =� 13

		  3 + 9 =� 12

		  8 + 9 =� 17

		  9 + 6 =� 15

D 	 Addition E 	 Subtraction
	16	+	 3	=� 19

	2	+	18	=� 20

	5	+	14	=� 19

	11	+	 8	=� 19

	7	+	13	=� 20

	15	+	 7	=� 22

	13	+	 8	=� 21

	5	+	16	=� 21

	18	+	 4	=� 22

	6	+	19	=� 25

	17	+	 7	=� 24

	6	+	14	=� 20

	19	+	 4	=� 23

	5	+	18	=� 23

	7	+	19	=� 26

	15	+	 5	=� 20

	29	+	 8	=� 37

	7	+	26	=� 33

	8	+	27	=� 35

	4	+	29	=� 33

			   9 –	5	 =� 4

			   7 –	3	 =� 4

			   8 –	0	 =� 8

			  10 –	4	 =� 6

			  10 –	7	 =� 3

			  12 –	3	 =� 9

			  14 –	5	 =� 9

			  11 –	7	 =� 4

			  13 –	9	 =� 4

			  17 –	9	 =� 8

			  16 –	8	 =� 8

			  13 –	5	 =� 8

			  14 –	9	 =� 5

			  13 –	6	 =� 7

			  14 –	8	 =� 6

			  17 –	8	 =� 9

			  18 –	9	 =� 9

			  15 –	8	 =� 7

			  16 –	7	 =� 9

			  13 –	8	 =� 5

	17 –	 4	=� 13

	19 –	 6	=� 13

	18 –	 5	=� 13

	14 –	10	=� 4

	16 –	 6	=� 10

	21 –	 2	=� 19

	22 –	 5	=� 17

	24 –	 7	=� 17

	25 –	 6	=� 19

	26 –	 9	=� 17

	24 –	 6	=� 18

	25 –	 9	=� 16

	22 –	 7	 =� 15

	21 –	 6	=� 15

	25 –	 7	=� 18

	21 –	 8	=� 13

	32 –	 9	=� 23

	31 –	 4	=� 27

	34 –	 5	=� 29

	33 –	 7	=� 26
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A 	� Write in words the number shown on each abacus.

�four hundred
and sixty-two

two hundred 
and eighty

three hundred
and seven

five hundred
and eleven
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